Chapter 9. Algebraic Expressions and Identities

Question 1

Add: 112* —8x+4 and 6x° +Tx-10.

Solution:
11x% - 8x +4
fx° +Tx—10

172 - -6

Question 2

Findthesumof 5+x-x -, 3x-5+2x* - %, x+5+2x° - 5z°.

Solution:
S+ x— xi-x
—S+3x+2x0 -1

S+ x-Sxt+2x

S+5x—4xt +0x°

Question 3
Add: 3+2y -5y +65°, -8 +3y+7y% and 5-6y - 87 +y*.

Solution:
3+ 2y - 5y% +6)°
-8+ 3y +7y°
5—6y+y2 —8;;33

0-y—4y* +55°




Question 4

Subtract 2x° - x* +4x -6 from & +5x° —dx+6.

Solution:
o+ 5xt —dx+6
2x —xt+dx-6

(=) ) (9

- +6x?-8x+12

Question 5

Subtract 20-3x+4x* - x° from ¥ -x* +2x-19.

Solution:
2 -x+2x-19
-x +4x -3x+20

() ) )

ox =5z +5x -39

Question 6

Subtract 2-6x+x*-7x* +x* from x* -6xF+2* -3x+1.

Solution:

xt-gxt +xt -3+
- +0-Tx" +x° —6x+8
I G I G I I &

- +xt+r +3x-7




Question 7

What must be added to ,* +3,-5 toget 3,7 +,* + 57

Solution:
I+t +0+6
= +3x—8
(=) (=3 (+)

2t 4t -3x+14

Question 8

what must be added to ,* +5»-6 to get »* -»* +3y-27

Solution:
Y =yi+dy-2
¥ +5y -6
(=) (=) (+)

» -2yt -2y +4

Question 9

What must be subtracted from ,* -3;* +5x-1toget 2% + 22 - 4x+27.

Solution:
©-3x+5x-1
Ox® +xt —dx+2

= G

% —4x*+9x-13




Question 10

What must be subtracted from »* +2y* -3y+7 to get »* +y* +y-17.

Solution:
oyt -3p+T
yayt 4y -l
(=) =) () ()

y-yeyt-dy+8

Question 11

Multiply

(i111xy* by —8xy"

1 —Exy2 with szy.
4 3

Solution:
(1) 11xy® |- 8xy | = —88x%y°

3 2 =10
(ii)[—zxyz]x[gzxy] = Exzfz

Question 12

Multiply (7x-4x" + 22 -5 by (3x-2).

Solution:
2xt —4xt +7x-5
®A3x -2

6xt —12x° +21x° -15x
-4z +8x% +14x+10

6xt —16x3+ 292 - x+10




Question 13
Multiply 137 -7° + 2y -y +41 by 1»* -2y* +3y-11.

Solution:
3yt =Tyt 2yt -y +d
y3 —Eyz +33 -1

3}?8 _?.}’6"'2_;}’5__}’4 +4_}’3
—6y7 +14y" -4yt +25° -8R
+ 9y — 21yt +E6y7 -3y + 10y
=37 4T -2y y -4

3y® -6y + 230 413y - 26y +19° - 13y + 13y - 4

Question 14

Expand (.5;-2,(.

Solution:
LJE:{—EJ?F =] |.\fl§xﬁ +I2.:|;|2 —Elﬁﬁxiz.}rl
= 35" + 4y -41@:{}?

Question 15

2
Expand |Z-2] .
Xpan [6 5]

Solution:

2 ) ) p) 2
7 =x_—2><ix£+y_=x_—£+y_
26 & 5 25 36 15 36



Question 16

Find the value of 492* + 36y +84 xy when x=3, y=6.

Solution:
4957+ 36y +8dxy = (Txl* +(65° |+ 2x(Txl 6y
=IT"J':+6‘;1.?I:4
= T3+ 6(61F = (21+367
= (57}
= 3249
Question 17

Using the identity find the product of (x-2yix+2yix* +4y° .

Solution:
2 v y 2
lx—2ylix+2yix®+4y |—[Ix—2yllx+2yl]lx +4ye
=zt = 4y* Iz +4)7 |
=|;{3|2—|.4};2 i

=zt -16y

Question 18

Evaluate (0.99).

Solution:

(0.99° =(1-0.01% =1 +(0.01/* -2x1x0.01
=1+0.0001-0.02
=0.9801

Question 19

Find the product (4x+ 2y 16z -4y1.

Solution:

(dx+2yi16x—4dy = (4x+ 2y [4(4x - 259]
= 4{4x+2y[4x-2y]
=4[|4x3—|2y3]
=16x" - 4y°



Question 20

Expand [nf_x—i_y

Solution:

o] o]

Question 21

2
Expand [qxﬁw "Ey] .

Solution:

[@H«Ey] =|4gxﬁ+§£@xy+[§]
—ai+l abx . &
I 5ﬁy o5

Question 22

Sll'npllfy : |,\|'f§x—,."|'§y ||,\Ex+ﬁy|

Solution:
|«f§x—«~\f§y |n\||{§x+\|'r§y|=|ﬁxﬁ —|ﬁyﬁ
=5x2—2y2
Question 23

Evaluate 136 x 107.

Solution:

1236x107 = (100 + 26100 +7)
= (1001 +(26+ 7 1% 100+ 36 X7
= 10000 +4300 + 2572 = 14552



Question 24

Evaluate 176 x176 — 124 x124 .

Solution:

176%176 —124x124 = (176 | - (124)°
= (176 +124)x (176 -124)
= 300%52 =15600



